e QsT@LIL erewT : SDGS/2022

udley
GTeuT

2022 |
- grer — II :
sLLTwg gllp@uomfls 5@HsCsira), (LFSTD aIGLIY STD) WHMHID
Qurg oifley (AsmPAHLUGDHAS Srb)
| Qs e Ussawd |
uEGd - 3 (sLLmug sWPAwLTRS 5EHs Caitey — LSSTD aEGLIL STb) WLHDILD
LGS - -demear (Aung siPle) — AsmADLIHHS STb) 2 drerL_sSwg

s erey : apany wesfl Cpwd) [Qurss wHu@uanser : 300
dlamés@nse uHodsg e Spssan_ flaymrsmas sueanonsl Ugssad

Wsu .auﬂeﬁa»q&dr
1. @bs amg Qsngly, Csirey QsTLiiGusHE 15 flltisEnés waasns aupmsiL@b.
. @5 flams Qsngriy, 200 elemssamend Qaranbateng). '
3. uGH-o-cilér Geppsuls wALQUET (40% SigTaug 60 wWHLAUET) Quprs Cotarselidr LEH-o-dpsrer e Fgmer
USE QeiwiuLom L ng. uGH-si-eild Csiedl Qubp chlaramiLgmrisaidrn LGH -aild Aupp Qs WALQAUETSHT
WL (b srafies uliguignss ahidgs Asmdariu@Ib.

4. e weléss Asmu@n e Gaslams@sn@idan aovor cemssend aufloaurs @i QubpETETEEN TELE®SLID,
@ vie Qauppissrearsar aean b Ghaw darumswb end Aaig Qsrdereab. dems AsrEdd gCsgibd gmun@
%@ﬂnﬂdr. SiBmen 8opcb uss BB LLsEsGE smpssanstafivureiiLb Gsfaiss. slurs odar Qo

emg@zrgudemear duppsQstarer Cauamibid. Csrey Asmnfu Yeany @5 GMss weplicLrd dHems AsmEiy
wrhdld sToLLmiLNg. .

5. ardr dlammssEns@n dleLwealssayb. eadar damssenhd swwrer wAHUGLETEET AsTaET ey,

6. e usEneoLw ufle aaramar @bs0 usssar wwg Cod wewwlld sHlsa dmwbgdaear QLsHd Bhsd aws
Ceuampib. Ceumy erangw|td HleT@STEGIID eT(PSHEIaLTF). :

7. deoLssrar gy deLsmar GHULSHE @DsSRSTEILLTTITD 2 WSEHES QPRSILEL. mLsmars
GPMuug eereliie wauflud Garuppuur Caudngw sidamgsdar e ssraligin, CsiasmL gwdhs S ugid
aprsLUL(Hdrarar. .

8. e disEmarLw clams@snguy aaneen (Question Booklet Number) efiengsnaflsn wpséd usssde osHlsar
Smwpgear QLsHd smeaw flp evyeiw upgeeeart Cuartdand @hsgsst L Cauar@b. alamsbsrEiy
aagnemen e ssreiio sflunss @Hsss smiLs saPanGor ez Ghsss saublarCor o ms@EiaLWw
el gsmar QeanssTssLEibD.

9. ge@eun eflemayd A), B), (C), D). (E) cren gbs Lbisear (enLsen) Qenepierang. Bruser (A) siwwg B) wag (€
oz O) @amasald gCr am slurar cleemwus Qsfley Qe e ssnaller EHsmsam L Coanbb. qm Cadailds
gomisg CubulL sflurter e @muusts Buser swmHamed, Wsssflunang oar Bruser aasssmHSDIECa b5
e e eflen_ggraller @dssissm L Couanhid. o misEns@ e Asfudidvae aalid, Sisdr (E) adaums Sseuflub
B Ceusr@id. eriiugwmignd g CaaraildE aCr qm ellenL grer CaimbGs{H\és Ceuambi. Brissdr qm Caerells®@ emss,

" Guopuc L eflenwiefisgre, sieubmiet g el sflunarsns QmbsTard ks ellerL SauprarsraCe SHSILIEHILD.

10.  fusar  emp@sreidar  apsuusssesyn  BssCan  swey HPssCur  sng. Csiey Crisdd  @bs
clamsGsr@udmaGur Sidag e gstameCur Csiey Sempewei G Qeelller apsHs Csowssming. Gsi
Qpubs e Brisar 2 misenmLW eﬁlml_%nanm samsresfiuuraTiiLb Qsrhésieil Couamiib. SldellamsQsmgidamen Csi
Wubs Slenent wLHGW prisdr ahdsF dsde godssinbelise.

11. uyser erduumtuushe demslsngulddr seLALLsEsHDG e edaT usshsmaT LuHTURSHS

srereramb. Qessselly, dami@srguldr aps @Lifgd apsadls GHUysmaTyb assmng. Qbs Sibleyay
~ sa@mquurs Geruppriue. Ceuam@ib. .

12. GCserell cuflens aramser. 101 s 200 eueny (UG- ndlo ey Cau Qulureang).

13. “Busar Copsar. sifleyarselie aapmpuraug Geaupps saudand Csrauraamub aREGL HLoul&MESEEEE
2 ararns CrAlGiw aar sifleymss LS. '

| ENGLISH VERSION OF THE ABOVE INSTRUCTIONS ARE PROVIDED ON THE BACKSIDE OF THIS BOOKLET I

p

[Turn over



SPACE FOR ROUGH WORK

SDGS/2022 2



UES-o — slLmwg siflp@imis ﬁ@éﬂé@éﬂm
(ug,g,nm QUG LIL gum)

Part—A Compulsory Tamil Language Eligibility Test

(SSLC Std)
Aermsser : 1-100 Qwrss wHrQuarser : 150
Questions :1-100 Total Marks : 150
1. S@dLUYEGE 2 dter detdeas 5665 QLidd Csiés : (santempss))
«r s TS allwkigmer TG SGMLPSSETIT.
(B) CpiGsr®, eamaGar® Qsran® G)JGZDIJ’UJI_ILII_I_ @elukisamear
TN ADPSSEIT.
(C)  awamemiuser GRULDL LO@S®W CTETY DADPSFENT.
(D) sfisgeam@aatd aoruuu@b gellwtismer | TGN DAMPSSETIT.
(E) e Qsfluedera
9. . S@LLYEGET 2 ater @al LILF AsTo@s 5G5S QLHd Caiés : (Cuab)
A &80 — (B) wie
%Cr Hof) ———— D) smeows ——
(E) oo Gsfweloena
3. sflurer Qevanmuys Aerdeas CsibOsE0.
8a GCamllar Cgyr eaetmy Ggflweldenew. __ grer  @GRUusgiLen
umtsCgetr.
(A) 2. Gar ' *@(cgqg,mrrcb
(C) Guaibd D) gQaald
(E) oo QgNwelcrena
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4. sflwrer @Slmné@&r.rd)mwg Caibeg®H :

Qpeerewitiur Camelled 2 eiTeng) ?
(A) - eréuefib . ) s
©C) gen | D) esp&

(E) eler QsfMweldrensw

5. Qumrmsswrer srewn s Hs B
(A) Gumiiguie Q@drg)rrr’r (P&psTeD)
(B) GuaLwd Gusdprer (adisTaibd)
% sHLgs Q'&@Qﬁ(‘éms&r (@pHs sTD)
D) uerefs@és QsrCeuan (QDHS STeLd)
(E) &L Qsfweidena

6.. Qur@pgsoner srab sarLHls :
‘( Widleuairy gL HCeuer (aTéliEmevid)
B) S quqCarenr (GTQF’TBSITGDLB)’
(C) Quui @lyermt (flépare)
D) e&SryhHEE QewCGeuen (HapaTe)
(E) e Qsfweiioena

7. Qurmgswrer st saTLHls :
A) priser aumGaurd (Hspame)
(B) <ieuer cumdpren (@DHs Smevid)
‘(6 Simal aumdlepen (Hlapameld)

D) <is wpsg (adisTobd)
(E) e QsNweldrena
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8. Cués apss. awss awss
Wemeu(meuameupmiet CLFs &G SDars QFTLmrs samLHe

A) mmsn, apdur? (B) wpmsn, cwammiquim?
(@p@&;n, aupbgefLmum? D) ymsn, aupgigur?
(E) e Asfucddme

9. silwuner fmsshH@daamer 2 amLw Cerawamas sarL_Hls

(A) sresdi sng o &L 5HG 15 CoLGLM?
(B) srssdie sng e @i sigH@ srg Cal@wm!
% &M&SEHE H1g 2 @TLT? ASHES H1F CalGwm?

(D) sregdie sng eagmm sHE Mg Csl@wm!
(E) e QsMweldena

10. &G aaumled v mrrésé.lu.ué:a;@ Qgm_(pb @)L s QU(MpLD.
O sty () B) wssnp yeraf ()
© @opouda () D) Hamse (?)

(E) e Qsfweldrena |

11. Nwuysed @ Cauamgw sflwrer Qgriamrs s Hsa.
Q) Que Qs prLsd
(B) mpéeweuen eumpeuren
% sl flen @eaflerwgren erenGen

(D) Gesadlpri erdw mred ergy
(E) oo QsAweliéreney
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12. @@®wl uate@wl WepwhHp GFrLit eg) ?
‘(561)@9] pood Qupp QuaTund Lo TéE werarmh Leaflbgser.
(B) soel peow Qupp QuaTurh LeeisE werarmbd LaflbsTer.
(C) soel pood Qupp QuaTUTD LOEUTES, LOGTET(HLD uéwﬂ‘lf,;z,an.
D) soed peob Qupp QuaETUTH LOTES WETaTHD LMTHSS-

(E) ofer Qsflweidens

13. @m@wl udewy Yepupp CFTit eg ?
(A)  sfipiseiian ampeile Gams Apps @Lsams QupHHHSET.
(B) sWyisellar aumpeiled Qs Apbs GLsmsl QupBlmHset.
(gﬂ@ﬁaaﬂéﬂ aurpeie @as Apbs QLsosl QUPHBHSS-
(D) sByisaier umnpeie Qs Apps GLsasts AupHBUILEME.

(E) oen QsMwalcena

14. @@®wlL udtemwy Yepwhp CSTLT &g ?
(A) Qesdus sagiser aaruama wmhHer Gl L @afluy Gureapg
%ﬂ Bsdws smpser aaruma wHbHer Gl @eluy Gurdrpee
(C) @osdu smpser aaume w@HHHe Cual L @afluy Curetpar
(D) QusHu sagser aaTueme WHHHE éLDQS]I'_I_ @efluy Gunenpenit
(E) o&Ser Gsflweidens |
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15. Qe G550 : (@G - @)
(@m — @i sgiluns swwhs AsTLmys CaibbsH&s)
A) em smild wrsHad gher. (B) @i sieflléd wrsdéd gder.
@r @ff safled wrsdHed FgHlwg. D) am sefe wrsHa ghwug.
(E) elev QsMwefdene

16. &fwrer Agr_engs Caib@s® :
QgenefipSHwrellen e wnerd Henanonssd smaGaswd wrhser CurboiiubElerper
@8 — aeucuamss Ggmir?
(A) emsQgmit (B) siiLeerg Qgmir
WQ&MQQGQUU? (D) o amisdlg Qi
(E) e Gsflwueioeame

17. &flwren Glg)m_.as)lyg CsbQs0\S5 6T(HsIs.
M Bemblens afommu.nﬁr’r LDEMDLOME Iilq SHETl6h LD&KET ,eumIT.
(B) Bombliems SibaWWTT O&SET DM G&6T eI,
(O) vepvew sgsamier Bomblllams DDWLWTT ESET L.

D) vepvee sgsarie waer et Fomblms bW,

(E) oo Qsflwefévena

18. sflurer Gsn_enys Caibbshés.
% upiGyilert Qubeasamwu Curhmnib o arirellanars GsTamq(HbSTT.
(B) . gupesews Gurpmb 2 artelear LkGWearT @mbsert AsTar(.
©O) uvyprEyWer 2 ariclmens Qanar® @mbsarnt Gubpamsamwts GurHmib.
D) o amialaar LhiEy e Qsramgmbsarnt @ubeasamus GuTHDib. |
(E) e&en Qsflwueldrena
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19. s@wsdstd dsw :

ESCALATOR
A)  Wengrsd mmu g 556
(C) WVenangpsed | (D) Hemgré>

(E) ol Qsfwafcvena

90. ®Om: & b - U awssss Qo awssd GO Gaupwp
‘BLQU(PSSIFHET TG LD Fopi6UT.

smpewd : $, B - QevelgarQLpssd mreder meafl  Cuoemul el
Sgtu@Haows Osrheusned Wpssearper.

4&1@@ snyerTb — @reaw@Hin &
(B) smpm &f, sryewd geum
(O) spm seum, styewid &fl

(D) spm, snyewtd — @ravThHb Seum
(E) oSeaL Gsfuclome

921. ©He Ay wrHoD AfBH Qurmer Caupur® slluraiess Sl
fow - Foe '
(4) geub - aaTemd Ygr@mmwdﬂ Soaymeud — giew
(C) wewe — Genm | (D) wep - Ceugd
(E) e Qsfweiicvena

22. BQ@®Aurmer s :

Sriger
A) <dey, spdyen 7 (B) <=iemfl, wrgw
M Hleay, wrgb ' D) oL, Hosy

(E) . dlen QsMwalicvena
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923. slwrar Qeaararws Csits :

I.  wemte - App

II. Wderargrees -  Search Engine

ITI. Qswed —  Touch Screen

IV. yeoenbd - Whatsapp

A Im o ®) I

© I vl v

(E) e Qsflwelerea

94. edlits Qemdere THSOSWS

2615510
(A) epsrew {G&nﬁm
O caLeaw D) vwssbd

(E) &le Qsfwelcrena

25. Coislswgs®:
Quruse + enm eranugmans Csisg eT(Wss HarL&@b Qame.
% Quriigaengy (B) Qurmiase® ey
(O) QumusQaenmy - (D) Qumiissienm
- (E) e Qsflweioeama |

26. | ‘ugtiuiey erengd QFrdenels NNSH Tss HenLLiLig.

B) Uy + sy M L + oilay
©) uyg + adey D) uguy + audley

(E) e Gsfweldena
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27. ‘shued’ Gerdeds searLHs
(A)  wsgl (B) sweb
«r Qase (D) swmsmb
(E) e Qsfwelidvene

98. pudws Qsrogise@ Coyrar glps Asrdmaws Csis :

Agency
(pEQITERTENLD : (B) wseui
©€) sraflwmd D) sigpsvsd

(E) oen Qsflwefdrena

929. Ymdas AsrogisE Qaarunar sllbs eriame e (Ws.
yeraaar apr9n (Online Shopping)
(A)  Berengm cuarflaid Qeanugger euanilsid
(O WVerargnwid (D) @eemrwid
(E) e Gsflwaiérenew

30. 9L umsser :
“seL&GU Curaumunr eeam Gaerellsgl “CurGeuer ararm 2-LaTULHé aped

’ﬁr Goir eflenL (B) aeué efleni_
- (C) opps e@rsse ellen : D) s @pelen
(E) e Qsfweildena

31. ‘amevils Grueh’ ereruig)
{ UD oagné sHiaEer (B) wisé Aauys sdiser
(C) eamQeueis sdiser D) &fws sdiser
(E) oo Qsflweldrana
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39. ereuauams s Tard STl (PgIFD

“swer AeouudsTrb sporer
A) popelmen ursHwbd
B) Ypeleer eunrsdwib

( Qeliafiear amsHuwib

D) Qswiun Helenar cursdHwid

(E) oo Qsflwuaiorena

33. Ypeleers QenpQpr.enys ser_hs :
M < Afwr urtd ugtnigsmr.
(B) < fAwi uriwp uuq.gésrrr'r.
(O <HAwr urib vy gsmym?
D) <aAwr urLw LgsHpri.

(E) e Qsfweldama

34. oraeseilear @LUIussD auamgsear dedauCs Frane eﬁl@a;eﬁla) wgeanemwwmer eHlf -

QS]GU)I_SGGS!D[_I) alarreneus CsiTbEOsHES :

ﬂr sneme alflsaflédr wsemamwwren el erg 2

(B) sraw dfsar wreneu ?

(O) sroe 94 erampred ereman ?

(D) sroesaar @Liuss O wrg ?
(E) &leor QsNwelcorena

p 11
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35. ‘dmbPlarpayi erau eaiQuuwfer wepe. agCauars samLMs :

A) Soapt

(C) fPempayit

(E) eer Qsflwefdvena

36. &flwrear Agm_egs Csiib0sH
dlfibsg - lfsss

(B) Gsemi

M Senemgnniv

‘J weryp Quuigse, Yellen @sp fbss. wuld Corasaw Aflsss.

(B) wvey QuuigsTd
(C) wenp QuwssTD

(D) wey QuwissT®

. wellar @sw fsss, wuld Cararsamw N5

, yellen @sp fbsg, wule Cararseaw MBS

. yellen @sp fssg. wule Cararsaw MBS

(E) oen Qsflwefdrena

37 pQumfs AsmhsErss Qaamunear suWllips Aethamens sar® AuTBSSS :

(@) Guild

(b) Patent

(¢) Consulate
(d) Territory
(b)

(a)
A 1
B) 2
e 4

D) 3

2
4
3
4

(©

- DN = W

1.

2
3.
4

(E) e Qsflweldena

SDGS/2022
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38 Qempsmer @urGUUBSSH QemH@prLymsEsd
Qempsemer EIEGUMHSSHS.
A) <=wsCesriLwrs Aaps CamlLms wearer Goueimigammem LIHD. .
M feops CariLgms sipé CamiLons wrpgorg wererellb Gouarg armér.
(C) wenanen 2p&CamLors wrHp HensCan Lsams G amer.
(D) wernenen Ceuamganmen Hp&CHETLLSws HavpsCamLons wrhHlearer.
(E) &en Qzflweidrene

39 27 auflengiiug Qempasener Fir Qauige.
(A) QanGur QumiGur evwCunr G

M £0wr QumuGWr ewGwr QeuwIGwr
(©) QuriCur gCur ewCur QauiGuim

D) QawuGwr ewCur gCuwr QurLIGWT
(E) oerr Qsfwecrena

40. &7 aflesiuy Qsthsmer & Qsiis.
Q) <elp swf Swsss SImHDOY
B) <imwy el Swess i
O <ef aésggs Sieflp SimibL

’J&m&ﬁg BBy Sfl ieilp
(E) ofer Qsflwefdrene

41. =287 auflensiiuig CI&rr,rjr)a;mm &r Qews.
A) Aeaer sy G5 QampbsTenL
\Mﬁmg flenar &8 QampbsmenL
(C) Qenypster &8 Haear s

(D) @&8 s Aot QasmbsTanL
(E) e QsMwecildrene '

P 13 SDGS/2022
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42, ‘Guereuw’ eretLigen seupren Aurmenars Caipblshiés.

A) whi B) sLe
© 2 O ea

(E) Mer Qsflweldema

43. sraugsslen @erd LT cumsw &LTs QFTd 6rg) ?
@ prop v s
©) ©oss (D) Géraner

(E) oo Qsflweidrene

44. Hoaums oong Qerdamesd samLfls.

A sis ()urﬂa;

(C) seue : D) swo
(E) Mer Osflweldame

45. @dll, auafl, aul — el Caugium Mbg Qurmer Fms.
Yﬁr@dﬂum- snHg, Gp (B) smhm. Qpdl. gierud

(C) Qp, smhmy. semud (D) giemuw, Apd), srHm
(E) oo QsNwedrena
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46. CIVILIZATION erénugen s8lpnésid

(A) Geuern@meno {pn&nﬂam
©€) vfpse® (D) 2peilwe
(E) eleo Qsfwelcrena '

47. Safles QeroQiss G.EIJT;GGT sLOPEQFTOMS eTF):

SUBMARINE
(A) suue (B) serisery eerssd
\d Bireppdls sl D) seopeswb

(B) der Qsflwuaioame

48. Qéaaunsflugdd 2 erer Genpenw B&5s.
(A) een wewtd @aOHSTH @DOHS AL
ﬁr BBt eren waTb kg eflLng!
(C) Quig ALng eren ward Q&PHSTED!
(D) e ward GrbgIb @sPHe ALng!
(E) Mer Qsfluafdame

49, spdu Qepupp GsmLi ez ?

% osalenans sm&ERT @atanns sHns AamrarGeue.
B) osdoas sowseEnar ga@n sHH CeTeTGaue.
(C) osdmas somosEsd gamns sHn AsrarGouer.
(D) asddmars soasEyed gatan sbms CararGauer.

(E) e Qsflweférena

p 15 SDGS/2022
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50. Swssamcupmier erg &l ?
aﬁlafé;@ - @mwEummer.
A) (@) Qessaruur_sms arss sam
(1) QerwvWe s
B) () Oasws s@ansz AE
(1) spserre <yeag Camybd
(C) @) B HIOSMETL Ly
(1) <m sresmer 2 @LWF T
w((i) @assaiiun g Narsds saml
(1) eeréens smesg N0
(E) Mo Asfueldme

51. <O - @FQsrdmisEsE QHEUTmEr 5ms. |
A) 2pss - 58 %{.ﬁ& - T
(C) Qumysse — werbd D) 5 - s
(E) e Qsflweidvene

52. S@LLULUEGET 2 ater QFTieransd 5GBS QL Carss : (waflGusme)
A) aps0smemns proseie gam
(B) uggtLI.( prosad e
M swumrsTuGuiseid e
D) uvdQemanspssanss proseaia qenm
(E) oL Asfucioms

SDGS/2022 16



53.

54.

55.

56.

Qurmsswrear Qeamemiils QFTo@iL 6T QFTL®F HAMWDES :
e HeNE QLIS errigaTT eflepaTwm iy weldene.

Q) vy perg QULSE. gQaraDrd erhigaTTd elleeTwim @q@eﬁlcbmco.

% e pen@ Quisg. aanCe, ariisermad allaeTwm (pigweildene.

(C) vey penE Quwsg. Cuaib ariserTed eflanemu 1Py welldae.
D) wew perE QULsE. gOaaler argarTed alaeTwm wigweildhee.
(E) e Qsflweidene

Qummsswnear @eeniiLF QFroramed sarLhs :

SsifleaeiL Wseb wsdwwrag spumeas Her. Sihley Grérrugj [BTLD
soCung Sdipgid Liipgd @ausdBluapCor® ibgeiEAns.

(A) eanGau B) aswure

C) <igCGura . 6 gQarafléd

(E) oo Qsflweldoena

sflwren llerré Qerverasd CsTBEGSMH :
SpQpMFemId LML TYHweud
(A) ereur ' (B) wreurr

(C) wngréd : . m i

(E) oen Qsfweiicoana

sgflwrar llenns CQerovemas CsibAs® :
BUAuBRISTUEWEISET
(A)  erénen B) ag

\M wree D) wrg

(E) e Gsflwelcrenew
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57. Gempamer @amansg UHw Qerdeme 2 (Haurssd

Snusd siwner Qsme.
A) epepo A\Q{@g@r&@fﬂ
(C©) Qafigid (D) sszb

(E) e Qsflueidene

58. Gummgswrer wyys Qervamas Coib0swWes :

- T O — V(%R
(A) Sal L {m‘r_ﬁmg
O @geaw : (D) Heny

(E) e Qsflueldame

59. Gempamer Qamenss LHw Qard 2 (Heunssd :
yellulermr Gereniors QUi

‘( (W], B) @meer

(C) semm D) ses
(E) &ller QsMweiicoana

60. Spaumeamaupmer CuEs: PES, T(WdG &S QeThamen Sam BNy
A) eu@dwur? - abgsn? (B) aupsmis — eumeumis

\( ubHwr — eubSTwIT? D) am@mpmi — eumeumis
(E) Mo Asfueldame

61. amde eeaigub Qemdaal Guss easdle eTam eupGSHCoD.
A) ssey B) feveciug
©O) meoypyw e w&m&d)

(E) oer QsNualdera
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62.

63.

64.

65.

66.

usHews Lyss emssErss e fu sfurar doLews Caibds@ : (62-66)

e Quriisd elpr QararLTLg sTésm Sl ikhGs Qsamprer. sibiE GFume
aan sTeer QMHES. ssT@aOW WHo@sd Wsab UGgsGL. SHGS
Souand eeuliLg Sleuag aPdsd. ailiyhGL Werpb 2 et CsriL 8o QmhEl
snmshser uNsss QsTHSSIS STHSTAUES 2 Sajeuer. Bjeudt, sTesT uTLyCurh
wélpeunsls Qukisd ellpreeus CemamLm@Hemer.

pHeer wri Sy h@F Geempmen ?

(A) wmor ﬂgr@gn

C) <san - (D) 858

(E) oo Qsfwellcoena

sT&sM i pgerer snenatuden QUi erewen ?

(A) Qamppes (B) e

(0) I T Qseuane

(E) &Merr Qsflweildene

e aeaafiprameasd QsrarLrL. gnssm eIl H@&é Cgampres?
) Qumiise (B) Sumeuaf

C) Adevgioev (D) usfs

(E) otlen Qsflwefiévena

wéaer CariLsdod Qmps aos LSSs AaThSS STESTVES 2-Fojaumen?

(A)  upriser (B) Sepser

% sTSHSET (D) ysser

(E) e Qsfwelievena

‘Qseuare’ aTanugl Tengs GMESDF) ?

'ﬁr srener B) us

©€) pmu D) yewen
(E) e Qsfweidvena
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- g7, Oemed — QuirmeT — QUTHSSIS
(a) Gmeer 1.
(b) se 2.
() woed 3.
(d) Qsm 4.

@ ® @© @@
A 2 4 1 3
(B) 4 3 2 1
2 1 4 3
D) 2 1 3 4
(E) e Qsfueldame
68. @emé — Qunper — QurmsEs
(a) wiE 1.
(b) eeuwd 2.
(c) Guenf 3.
(d) Pgsd Hssw 4.
@ ® @© @
A 1 2 3 4
3 4 2 1
©) 4 3 2 1
(D) 4 3 1 2
(E) oflerL Qsfwelirency - .
69. G@emé — Qunper — QuEBSHS :
(a) smerew 1.
(b) wrA 2.
() ysew 3.
d) swva 4.
@ ® © @
A 1 3 4 2
- (B) 4 1 3 2
wr’s 1 2 3
D) 4 3 2 1

(E) e Qzfweldena

SDGS/2022

LOem L
Gl

YIS

BraTGsmmib
UnNgI&TESe
S|eT6
2 &L

e
2 5L

cuulimy

- @réabd
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70. Wereumeuaneupmier sflwrer Qeamamard GHIUNGNHS.

(Aél) L& - yb&er

() Qamed - Qsmevser

@ - ysser

(FF) UL - LOME&&ET

(@) (@, () B @. ™ )

'(Cf (1), (@) D) (=), (m)
(E) e Qsfweildeane

71,  &mett QUUBES TOSSIsSTL @S CaibOsH s :
(A) wgb (B) wen
&1 prpsned D) smpp
(E) o&en GsAwaiidvena |

79 somesbsmd Mg :

HERO STONE , ‘
T 5pse B) Qunglciy
©) sspmuay D) soQeuigwie

(E) &lenr Qsfwalcvena

73,  s@&6snd iPlse :

MEDIA
\6 2a1L_&Lb (B) @spwe
(©) QumAuiwe D) v @sp

(E) eflen QsRwefidrena
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74. e Gerwany Qg erg)?
A) adllie greows Csnigsmer.
(B) ecafl@e mrevws Csmiiume.
% earfluler Frevads Camssmen.
(D) eafl@er mrovws Camissmnb.

(E) eferr Qgflweidena

75. Qu@aupp QT 6 ?
A) siwss Qsigs pren e
B) <iwgs Qrigg prar sio®.
Q(élmgé Qawigg mren ieGeaen.

] D) <iwss Qsigg Bren d@e.
(E) e Qsflueldeme

76. QurmBIID QmemTerws STeNs :
A) &fl - gdey ‘ (B) simeuit — sreven

6 Yoo — weREEGMS D) wped ~ ygit
(E) Mer Gsflueioaee

77 Qunmbans QFndams sTans
A) o - B) &

(C) wop dmn

(E) &leor Qsfwelorena
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78. ‘UTL® + QEGW - carugmans Caisg qTWss HoLs@Gw Card.

{ UM g (HSGSW (B) ur_®pm&Ew
©) uvyWEBsESD D) umgEmEEWw
(E) e GQsflwellevenew

79. GLb®S ————— THTUFE LOAHL-.
A ©ers - (B) @weu
M GWwuCsremid D) @alsgme

(E) ofeL Qsflweidena

80. saupman eariy Quuiflér wme e eTWYEs

(A) esswar_eb - 2 ZME -
\é{ LgsCe - yg®s

(C) wenarmiEy - éTenen

D) HHApoGaudd - Qpevenay

(E) e Qgfweilvenaw

81, s&flwrer eaxii@uuifen wme sAsromas Coibls® :

A) ygereu - HgI&ECamenL

B) uyses - y&&Ca
W BITens - BI&EUIUL g QT

D) wuWewn - wulerG g

(E) M QsMweiicvena

p 23
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82.

83.

84.

85.

86.

‘@neeuTCragen eremLg)
K 2 WML (B) sepgierur_d
(C) Gusse D) sgyuCusse
(E) &leor Qsfluelome
Qerevsui (Philosopher) eremueui
(A) ugﬁhﬂémswrrérrr'r {Qmuﬁuﬂmmm’rr‘r
(C) eawssmeri | (D) Gpdwrer
(E) e Qsflwelioene
‘Blovajib eurgyd Gurey’ - @euaqeuand smmib QurmeT eleT&Esw :
(A)  uamyerLew (B) uenleyen_anwo
(C) Cappeno \Zf @O
(E) e Qsfluaiidene
GTeueUens UTSEWID erand SmbL (LPSIFD
“url® slleeamed urLtulL g’
(A) o Lemun @ eursfwid (B) geneenan cursHwid
(C) adivep aunsdwuibd Qewiur’_Hedlener Q.lrra';ﬁu.uﬁ
(E) oo Qsflueldena
sanclilanar cunsHwsams CsibOsHES :
(A) wreweuen wanb HmsHarmen.
M remreuen e SHmbHerme.

(O) wrewreuan wanb HmbHearmert?
(D) wnewreuen wand HmbsE Qeuigme.
(E) oer Gsflweldena
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87. eWeriLgdd Gsremd siLuu’L GLb, gdld, Aud, Cures suy Gumean
@assasmallser LweTu®BSsILB S eTmer ?

N &Capp alenmmeneug CsibOsH&s :

Q) Ui Lo abs Qassameisdr LwaTLHSSULGIDS?
%@uﬁlmrn'_l_gglm THOsHS @m;sésa@sﬂasm vweruBSSLUGEDS ?
(C) gl Lo aaaumprar Gmsssmedsd LLELESSILOSHDS ?
(D) @uilor’ Lsdld agparar Qassameilsdr LweTu®RSSILGE DS ?
(E) e Gsflweldana

88. M sCspp clamaeus Caib0sH&s.
urgHwni wETEe aTar HPssLILBEDTT.
A) umdwrt @uHGuuwir wrg ?
(B) wsansed umgHwr?
umgHwrt ereueuny SienssuuGSDTT?
D) wsrsed wni?
(E) &l Qsfweldena

| 89. &L sCaspp Hatrencus CoibQs®Hés :
Qumgdsdrami utaueCry o Si@WESLLGHDT.
A) Qumgrdsdranmiler @uoGQuuwir wirg ?

(B) urrmm@q@u.nrrr‘r?

(O) e urwaCGry aar @PssLILGEDTT?

\J QupErfigHyenmi ereucuny SiewpssLLGEPTT?
(E) efeL Qsflweiioana '

) 25 : SDGS/2022
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90. Qampseaer @umGLUBHSSH QeTHQDTLITEEsM
Qempsener uEEGUHSSHS.

() wearfiGuoasame wafludweausselnhEs Q&a‘nmrreﬁ.
(B) vafludwaussalpEs Qeaprer waflGusme.
©) weAGusma Qeanprer bafLdeasSeHE.
D) uveowmssans wenf e Guwaama Qganpmer.
(E) e Gsflweldeme

91. Gempaamer @uriGLILGSSH QeTHEDTLTTEGS®
Qempaamer UBIGUOSSHIS.
A) eerbiCe ey Qgfuyw L.
'{) efleneruyd LudliT enemliCa GFMuyw.
©) | Ul efeeryd weerulGa QM.
D) weerlCe Qs eleeryynd L.

(E) e Qsflueldme

992. Gsmpaemer @@mguu@gﬁ G&rrm@g)ﬂu..lyrr&;@gw
Qerpamer URIGUOSSHS.
A <5ECumnd Gdarmw sd@TmwW.
‘{ a;é‘owrfmwanu.u @darenn %s@cénm.
(O @aowraw Y&EGand sdrmwaw.

D) @oeraw soarmwew < &ECaunb.

(E) Mer Qsflueldae
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93. am-eam Gaursdsrdaer eleanuromerryn Guwy s :

4 aubgeult (B) eapgmen
© ams D) aps

(E) e Qsflwefdvenaw

94, Simp-arann Ceuirs Qeméalier gmflp Quwers sl
A) <eopss (B) <opss

‘6 DADPSSED (D) siewpssren

(E) e Qsfweildena

95. Cars@srdrena cllenar@wssns LIHHS.

“QUQ_I” :
| '(Krﬁum'.m (B) Quppeuen
(©) Qupsed (D) Quppmer

(E) Mer QsMwefdene

96. Bs-Carsdsrormas sms.

@) ae B) acso

v an D) s

(E) &Mer Qsflwuefdena

p 27
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97. & CgGUQI'—'"@ 2MBg Fflwmen Qurr@ao
A) g - frueg faﬂ Qaueflésid

©€) o - sopw D) &f - sssd
(E) Mer Asflueldana

98. s&flwrer Qaanaws CsibOsHés :

I.  Cpreflen - 0Ceuer -

II. 2pps e orssd el -  &rd el
III. geud e - 50w Qauws -

IV. &0 efen -  so® wdsdng
N B) LIV
(C) 1II, 11 D) IL, IV

(E) &ler Qsfwelirenad

99. udes Asroisg Cryrar sullps Qsrorame HFH :
souy i (Computer) arénp <y mflos Gsrodaisg Corrar sU9pE0ETD.
(A) WVerarenfl ganfle .
©C) safilaf ' (D) WVenengpsed
(E) e Qsfweloena

100. pudlos Qerdaus@ Crrmar sUp&@sTomals QUTHSSs.

(@) Volunteer : 1. swps &Fidmsseund
(b) Social Reformer 2. Qeeflipmieud

() Entrepreneur 3. senanmieueir

(d) Foreigner 4. QsmpeqaaGeunt

@ b @0 @

@A 2 3 4 1
B 4 2 1 3
w3 1 4 2
@1 4 2 3

(E) e Qsfwelidrene
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UG- (Qung eidlay) (AsmADLEADAS Srib)

Part-B (General Studies) (ITI Std)

erngger : 101-200 Qwrss wHuQuersedr : 150

Questions :101-200 Total Marks : 150

101. Foreign accounts called Muziri as the “First Emporium of
India”.

"’( Natural History

(B) Geography
(C) The Periplus of the Erythrean sea
(D) Buddhist chronicles
(E) Answer not known
pideow “@idureiler wsgd Curhrsmy” ey sambd  CeseflET G mred
G
A) Quipes cugerm
- (B yaQwe
(C)  efsdRwen sLader Quilciaten
(D) uss vuysar (BTGB LsEsLD)
(E) e&ten Qsflwefédrena

102. Pick out the wrong pair :

(A) V.O. Chidambaram — September 5, 1872

Subramaniya Bharathiyar — December 11, 1881
(C) C. Bajaji — December 10, 1878
(D) K. Kamarajar " —  July 15, 1903

(E) Answer not known
saupren @evemenwsd Azfle] GQsws :

(A) ez Asbund - QsuLbui 5, 1872
(B) sugoefiiv umrdwmi -  g&buf 11, 1881
(C) 4. @urgne _ - g&bui 10, 1878 -
(D) smwogrgi - g9%»® 15, 1903

(E) e Gsfweldene
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103. Assertion [A] :  Through the letter correspondence Velunachiyar asked

5000 infantry and 5000 cavalry strength to Hyder Ali.

Reason [R] : Velunachiyar conveyed her strong determination to

fight the English.

(A) Both [A] énd [R] are correct, but [R] is not the correct explanation

(B)

of [A]

Both [A] and [R] are wrong

‘({Both [A] and [R] are correct and [R] is the correct explanation of [A]

D)

[A] is wrong and [R] is correct

(E) Answer not known

Cu]u

[A] : CGaugy préflumt eangi SedludLd 5000 sTOTLUMLSEHLWD,

5000 Gl LMLSEHD @D Ulg S er(pHenTi.

smanrd  [R] : - Geugy | preflunt  gudCowCrm® Gurgaudd  Selgwrs

A)

®)
©)

D)
(E)

' SDGS/2022

@mwuumss GgeflejuBsdernTi.

ampm [A] wpmd smren [R] @rer@w sf eaflgind srreamd [R] sapep [A

sflwung afersseldoane
sgapm [A] womid srremd [R] wdwu @rarGCw sauprareey

wmpm [A] vppo smrern [R] @rem@w sM smgamnd [R] smperp [A]
sflwrsCeu allens@Sms)

spm [A] saupreng, smremnd [R] sflwreng

cen GQgMwalerena
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104. Name the Committee appointed by the British Government to eﬂquire

105.

about the Jallianwala Bagh Massacre.
(A) Dar Committee

W Hunter Committee
(C) Rai Committee

(D) Simon Committee

(E) Answer not known

gralwer eureTuTs u@GIasrra)co umgﬂ cenflss Al gey rerhmsD {_F;]u_mS]gg,
Gellem QUi

A) st W
(B)  aver_i Gw

(O 7w e

(D) aswer &
(E) e Gsfweildens

Which two dlstrlcts of Tamilnadu are frequently affected by cyclonic
storms?

(A) Theni and Madurai
Nagapattinam and Cuddalore
(C) Villupuram and Perambalur
(D) Kancheepuram and Ramanathapuram
(E) Answer not known

SO B g6 aThS @TaT( LI L BT Sigdsy Lwelarmed urfssiiu@emmen?
(A) GCgefl wpyb w7

(B)' prsuLLgend wHHID SLGNT

(C) eNyuyrw wHmb QuibuT

(D) srgAyrnd whmib GrmoprsLgd

(E) e Gsfweldena '

31 SDGS/2022
[Turn over



106. Arrange the following Events in Chronological order.
1. Navajawan Bharat Sabha
2. Bhagat Singh joined Hindustan socialist Republican Association
3. Bhagat Singh hanged in Lahore Jail _
4. Bhagat Singh and B.K. Dutt thrown bomb in the Legislative

Assembly Hall
A) 1,3 4,2 21,43
©) 3,1,4,2 D) 4,3,2,1

(E) Answer not known

&Gy Qar@&ssLul(Hétetaupany sre auflasiuhsgs.

1.  peugeuren umgs sum

2. Qbgevgren Gerasels Guwrs semwlibe ussHn Carbgmi

3.  ussflm wremi Aepuied grededlLiuc L

4. ussflgbd 9.0s. g5 WsHW L wamsHen Bg Ganh eiflarmisdr.
A) 1,3,4,2 | (B) 2,1,4,3

©) 3,1,4,2 D) 4,3,2,1

(E) e Qsfweldene

107. ‘Al-Hilal’, a weekly newspaper was started by
(A) Mohammad Ali Jinnah
(B) Rahmat Al
(C) Muhammad Igbal
Abul Kalam Azad
(E) Answer not known

‘@ abflord’ aarm aury Qelidssreaner <L TblSs6uir D},6UITIT.
Q) wswg 26 Peanm
(B) rsws e
(C) @swg @sure
| D) sy sonbd ysms
(E) &lenr QsMweldena
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108. Match the following :
Rural welfare policy during plan periods

(a) Bharat Nirman 1. Xplan
(b) Ensuring basic needs for
rural poor . 2. Xlplan
(¢) Providing new wage earning
revenues to rural poor 3. IXplan
(d) Creating new infrastructure
"~ inrural areas 4. VIII plan
@ G @© @
A 1 2 3

4
2 4 1 3

©C) 4 1 2 3

(D) 3 1 2 4

(E) Answer not known

Qemeupeuameupenpls QUTmHSSS

L srasdd 2ars pos QamaTasser

(@) ungs Hiwre ‘ 1. XAiiw

(b) eaps gepaseien gL
Ggeeusaer 2 mfl Qeige 2. XI&ew

(c) eags gawsErsESL UHW
sardflwid Cugb eufisamar

B EGHSD 3. IXd&ib
(d) eapsl ugdsaiier yHw 2 a1s |
Sl cuangsener
2 (HEUMTEGSD 4. VII &rw
@& ® © @
A 1 2 3 '

4
B) 2 4 1 3
© 4 1 2 3
M3 1 2 4
(E) aleor Qgflweildvanen
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109. The taxes on properties are collected by
(A) Central Government
(B) State Government

(C) Central and State government

M Local governments
(E) Answer not known

Qdenggissensarar eufl @bdHureder wrymed UGINESLLIHE DS ?
(A) ewvw rs

(B) wrhe eirs

©) LW wHMD e Sirs

D) o cremmf sy

(E) e Qsfweldana

110. The tax revenue from lotteries organised by the Union Government or
the State Government goes to
ﬂé Central Government
(B) State Government
(C) Both State and Central Government

(D) None of the above

(E) Answer not known
HHL STETH DG WLIHL BTFTD  B@LSSIULL T LAl & O& apeid
L@ el aumeumi wmhsEs Qedeid ?

A) gfidu sirsss

B) wrie sirsss _
C) wsdw YL WPl SiITsEsE,
(D) Cupsar_ eageyb @daame
(E) eer Qsfweierena
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111. Which of the followings are the economic problems of poverty?
I. - Increasing unembloyment
II. Technological Development
IT1I. Capital deficiency
IV. Inadequate economic Development
(A) I,IIandIII | (B) II, III and IV
&7 1, 111 and IV (D) 1,1 and IV
(E) Answer not known '

Gereumuees eugienwulen Qur@ermsTy WrFemanumn@Lb

I edsiésh Camaddam

II. Qsmflomu eueriéd

III. epogears upprEGOD

IV. Gurdw Qurmerrsry euatiéslulenenio

@A) L II wpgo II (B) 11, III wpmo IV
(C©) I III wpmw IV D) I, IT wpgw IV
(E) oo Gsfucioma

112. The country which hosts the BRICS meet for the year 2022 is

(A) Brazil (B) Russia
(©) India @ China
(E) Answer not known
2022 oib gy&mgpatar BRICS wrprieL pLggid 616 <& LD.
(A) QGrée (B) @repwr
C) @pdun (D) &enr

(E) e Gsfweiidene
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113. Identify the personality :

He played a pivotal role in spreading rational ideas and scientific
perception into politics of Tamilnadu. He worked for the welfare of
farmers, workers and spread socialist thinking into politics. He was

appointed as a member of the Indian National Congress.

(A) J.C. Kumarappa
(B) E.V.R. Periyar

%( Singaravelar

(D) Maraimalai Adigal

(E) Answer not known

2EHDWLHW (BUMT) SN WITETLD STERTS.

Qair slps Srfud Quissde usssdey smssssaT wHMIDL HMafuc
urieeusamer ghubsdweui; eoleustlsdr wHmD CAsmberaisd BOEIESTS
urGuUCLeuf; @6AU SIS swsiTL aHSgssman LFLIAWe; @pdw Csflw

smaslrallar 2 pufamraeyn Hludlssiul Leui.
A) Qg.8. Gwruur

B) ~.Gau.gr. QuAwmir

O AmsryCeueir

(D) LODLODE Iilg HETHT

(E) e QgAwelwemea
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114. Assertion [A] Article 312 of the Indian Constitution provides for

All India Services.

Reason [R] : The states wanted to have uniformity in

Bureaucracy.

({[A] is true but [R] is f:alse

Both [A] and [R] are true and [R] is the correct explanation of [A]

(B)

(C) [A] is false [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

wmom [A]  :  @pdu  <rsewiy Of 312 sfe @pHun  uellser

- QgrfureTgm@Lbd.
anu}mm [R] : @Gy &mer gamavyeLu fameissd @mss Cuanhio erer

@)

| ®)

©
D)

(E)

wrhlenser el
ampp [A] e_amewvwurgn. smearbd [R] gapr@b.
ampm [A] wopw srpamd [R] wdu @ran@w sflurgw. Cogib sryerd
[R] ererug sapm [A] parer sflwrer eferéswn@ib.
smpm [A] saum. srremd [R] sflumg.
ampm [A] wogw smemd [R] gdu @remeid sflungb. @ wUu9gib
smyenid [R] eramug) sapm [A] psren sflwnear elletésb Side.

e AsMueddea
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115. Jawless vertebrates are

(A)
(B)

Cephalochordates

Urochordates

M Cyclostomes

D)
(E)

Amphibians

Answer not known

sreoLwpp PpFAasQIbAsET atume wWree ?

A)
(B)
©

D)
(E)

s &G Wrreflger
e wgiE Wrrenflsedr
el Leumyenw 2 udfger
@meunp 2 ulferriser
elen Qzfwelidvena

116. Choose the following pair which lack nucleus in the human blood.

(A)
(B)
(©).

Neutrophils and Eosinophils
Basophils and Lymphocytes

Monocytes and Eosinophils

M Matured erythrocytes and Thrombocytes

(E)

Answer not known

walls QréssHd 2L s® Qowrs Gaarsmers CsibOsH\Esa.

A)
(B)
(©)
(D)
(E)

SDGS/2022

B CrrsiQéaser whmib FAGaTs Ao ser

CuGsnQdaer wHmb SlbCuremsL_ser

GurGarrens_ser wHmb FHAGCaT G086

e 58l s arlsCrrensl Dser LHMID g\unmcl;lnmgc_@aseh

eflenL. Qs Mwellvene
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117.

118.

The left over slurry in biogas production is a good manure rich in
(A) Carbon and hydrogen (ﬁ\ﬁtrogen and phosphorus
(C) Iodine and Antimony (D) Sodium and Calcium

(E) Answer not known

2l eamy e2pusHuléd  Lgud a;t(.ﬁlma;aﬂd)‘ | 2AETa
B@sHBLUSTD Spbs 2-TOTELD.

(A) smituer LHHID MADL TRET (B) enpliygmen whmid LmevLzad

(C) <Cwmger wHYD emg e (D) Gsmgwib wHHD STOSWD

(E) eer Qsflweficoane

Calculate the concentration of H,0® ion in a mixture of 0.08M

CH3;COOH and 0.06M CH3COONa at 298 K

(Ka for acetic acid = 1.84 x 10™°)

0( 2.4533 x 107 mol I (B) 2.7613 x10™° mol 1"
(C) 3.4533x107° mol* I” (D) 2.7713x10° mol I

(E) Answer not known

298 K Qauuufleoeulo, 0.08M CH;COOH wpmw 0.06M CH3COONa

QananL swamada odrer HO" sweller Qedlellmans samss®s.
(21lgs flvsdear Ka =1.84 x 107)

(A) 2.4533 x107° mol 1™ (B) 2.7613 x107° mol I
(C) 3.4533x107° mol® I’ D) 2.7713x10° mol I

(E) oo Qsflwefcrena

39 SDGS/2022
[Turn over



119. If 75% of a number is added to 7 5, then the result is the number itself.
Find the number. '

A 50 (B) 60
@ 300 | (D) 400
(E) Answer not known

@i eramanflen 75% oL e 75 @ smigamed wpuey 2Cs @, ps T@TE@TS

sa(Hlg.
(A) 50 (B) 60
(C) 300 (D) 400

(E) e Qzfueidvene

120. What is 25% of 30% of 400?
@ 25 w30
© 120 | D) 150
(E) Answer not known
400 @eir 30% wduQer 25% erean ?
A) 25 ’ B) 30

©) 120 (D) 150
(E) e QsRweldrena

121. Find the H.C.F. of 21x%y, 385xy* from the following.
@) 7x (B) 7y

(C) Tx%y & Txy

(E) Answer not known |

&Gy o etorancusafier, 21x%y, 35xy’. e dweaupder 15.Qur.eu. sramrs.
A) Tx | B) Ty

(C) Tx’y D) Txy

(E) e Qsfwefdane
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122.

123.

What is the volume of a cube whose diagonal measures 4v3 cm?
(A) 8cm? |
(B) 16cm3
C 27cm3
M 64 cm3
(E) Answer not known
443 Qs.8 g apeeillLbrss QETaTL &aEgITSSHen SaTDieTe, cTeme ?
(A) 8Qs.83 (B) 16 Qs..53
(C) 27 Q.83 (D) 64 Qs.188
(E) o&feor Qsflweldena

In tossing a fair coin twice, find the probability of getting atleast one

head.

1
(A) B)

1
i
“ 3 ® 1

(E) Answer not known

@@ Symen prewbd Qranh Wap sSTLLUGEADS. GODHES @ SOV doLss
fapgaailamensd sramns. .

1 1
A — B) =
A) 2 B) 5

3
c - D)1
© 2 ®)
(E) e Qsflweidvame
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124. The least number which is exactly divisible by 32, 36, 45, 60 and 80 1s
(A) 1444 & 1440
(C) 1404 (D) 1430
(E) Answer not known
32, 36, 45, 60 wHmb 80 Hw aanserted, BHulend uEGUOL Wss ADlw ereir
(A) 1444 (B) 1440 :
(C) 1404 (D) 1430
(E) e Qsflwefdene

125. 8 men can complete a work in 16 days. 4 days later, 8 more men joined
them. Then the number of days required to complete the remaining

work 1is
@ 4 | ol 6
© 8 D) 10

(E) Answer not known

8 puitsdr @@ Caumaow 16 prisald Gaig eyl 4 prisd sfss Cogib 8
puiseT aups Csidiprisdr eafld, wGuoevowus Qsuw ahsss AsrdaniEpnd

BTL_&eT
a) 4 (B) 6
(C) 8 (D) 10

(E) &enr Qsflwefcwvena

126. A car travels 360 km in 4 hrs. Find the distance it covers in 6 hrs
30 minutes at the same speed.

(A) 400 km wef 585 km

(C) 600 km (D) 636 km

(E) Answer not known

em wiyss 360 £H.85 gmsms 4 wall Cprsde s sdawg. <Cs Caussdled
wHWHg Gsdgib Qurupg 6 werfl 30 AL kiselld adiauamey gITEmss SLEGW

TSNS SIS,

(A) 400 8.8 _ (B) 585 .15
(C) 600488 (D) 636 £..8
(E) e Qsflweidame
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127.

128.

6 pipes are required to fill a tank in 1 hour 20 minutes. How long will it
take if 5 pipes of the same type are used? -

96 minutes (B) 98 minutes
(C) 94 minutes (D) 92 minutes
(E) Answer not known .
om BisQsn you 6 Gprusmeas Gsren® Hrudeamd 1 wesh 20 AL s
25011y Hroyb aald b Gpmusmas Qerar® Hyidand eeaaaray Coprsded
DIHQSTL1q HFbLD?
(A) 96 fulmser (B) 98 ffl_ruser
(©) 94 pAL_mser D) 92 Al rgdr
(E) e Qsflweiidvene

‘A’ can do a piece of work in 10 days and ‘B’ can do it in 15 days. How
much does each of them get if they f? the work and earn = 1,500?

(A) = 800, % 700 z 900, T 600

(C) 850,650 : (D) = 950, = 550

(E) ‘Answer not known

‘A’ o Camaew 10 priseligid, ‘B’ 2G5 Caumaamu 15 prisafigib epyruf.

) @maumb Csipg SuCaumaamu Asig T 1,500 g mlgani, eafld SQGTMSMW

129.

ereueurg Mg Qarareur?
(A) =800,z 700 (B) =900, z 600
(C) =850, 2650 (D) = 950, = 550
(E) e Qsflweildena

On dividing 15968 by a certain number, the quotient is 89 and the
remainder is 37. Find the divisor (
‘ 179

A) 169

(C) 181 (D) 189

(E) Answer not known

15968 g b eramenTied auGEGL GuIg Fay 89 wHNID BE 37 HeLbGn?
A) 169 B) 179

() 181 (D) 189

(E) e Gsflwelédrena
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130. If certain sum of amount becomes doubled in 10 years. Then its rate of
interest is

A) 5%
10%
(O 15%
D) 20%
(E) Answer not known

@B GO LS Qgrraoau_mafrgj 10 yampsafd Qriuiy wdps aalled g
el lg aigd

A 5%
B) 10%
©) 15%
D) 20%
(E) & Qsfweddvane

131. How much time will it take for an amount of 450 to yield 81 as interest
at 4.5% per annum of simple interest?

(A) 3.5years
4 years
(C) 4.5years
(D) 5 years
(E) Answer not known
450 &5 garyhe 4.5% aly dssde, saflay wepte, assomer
gerhsaiier 81 aliywrs HeLsEw ?
(A) 3.5 gam@ser
(B) 4 yyawn@ser
(C) 4.5 yam@ser
D) 5 ay@r@adr
(E) eer Qsfwelicvena
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132. Reason and Assertion type :

Assertion [A] :  We the people of India, having solemnly resolved to

constitute India into a sovereign, socialist secular,

Democratic, Republic.

Reason [R] : The preamble reveals the source of authority of the

A)

constitution and nature of Indian State.

[A] is true but [R] is false

‘6( Both [A] and [R] are true and [R] is the correct explanation of [A]

©
D)

(E)

[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

Answer not known

sy [A] : @Qpdw wssaTAWL  prEGET @bHutees @G @@pwraETL

QarerL. &L, WSETTUDD, RETHTWS, SGWTFTE ADDUSDHS,

2 pflujen SirwonafggerGermb.

smemd [R] 1 wsaer @bdu rdwed snsargdar odery qpogeard HMID

(A)

(B)
(©€)
D)

(E)

@bHw BIig 6 Hemenoa Qmaﬂﬂu@gj@é}mg.
[A] el yammed [R] seum
[A] wpmd [R] @dw @ran@o sf [R] erarug [A] Wen sflwrer alatésid
[A] saup e [R] o |
[A] wppw [R] @du @ran@n sfwrag o [R] 65 sflurer darssw
[A] @oaa

fan Gzflwueiidena
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133. Assertion [A] : Directive Principles of State Policy (DPSP) are
described as ‘novel feature’ of Indian Constitution,

according to B.R. Ambedkar.
Reason [R] : DPSP .acts as a guideline for the state.
(A) [A] is true but [R] is false |
‘Q(Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] .
(E) Answe_r not known

ampp [A]l: <we Apdlypeapypssn Cariur@sear @bHu ‘SrHlueevrnder
L{SIenDWITes Apliubew’ ere B.R. 2bCuSSTTD

Qﬂ@tﬂééﬂu@.ﬂmg.
smend [R] :  <os QOpdypeopypsgnd Cerur@ad prighsrar euhsm qwns
QsweouBEng.
A) [A] sl yeme [R] goup
B) [A] wpgw [R] gdw @ranew sf [R] ererug [A] Wer sfwrer eleréswd
O [A] sy seme [R] &
(D) [A] wpmw [R] fw @rarpn sfwurag e [R] 6@ sfwrer ellenssib
[A] @oee

(E) e Qsflweldveme
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134. Which High Court is the biggest High Court in India?

135.

(A) Calcutta

27 Allahabad

(E) Answer not known

(B) Chennai
(D) Delhi

@ pSHwiree Bt Quilw e wir BHwenpd erg?

(A) sasssr 2w FHwerpid

(C) swsmurg ewir e

(E) oer Qsflweflcvena

(B) Qsénenan e wit BHwenpid
(D) Qe 2 wit BHwermid

Match the following :
Country Name of the Parliament
(a) USA 1. Diet
(b) Japan 2. Parliament
(c) Britain 3. Folketing
(d) Denmark 4. Congress
@ b © @
A 2 1 3 4
4 1 2 3
(€ 2 3 4 1
D) 4 3 2 1
(E) Answer not known
QurmSss
Br(H\&eT BromepwearnsSer Guuwii
(a) =QwAss gsdw prhser 1. Lwl
(b) suumer 2. UNFTEHLETDHLD
(c) Q9L 3. Gumési g
(d) QLemwonis 4. smadgev
@ o o @
A 2 1 3 4
B) 4 1 2 3
©) 2 3 4 1
D) 4 3 2 1
(E) &en Qgfweildvenew
47
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136. Match correctly the excavated things with the corresponding places :

(a) Copper 1. Khetri
(b) Gold 2. Kolar
(¢) Lapis Lazuli 3. Badakhshan
(d) Cloth 4. Umma

@ ® © (@
@3 4 1
af 1 2. 3
© 4 2 1
1 4 3

(E) Answer not known

N W b N

Sspamyrisd Aawiul e Qurplsmag QaTiyaLy @Lkiser e sfwumsl

QurBSSeyLD :

(a) smlgwd 1. Qs
(b) smusw 2. Gsremi
(©) wefssd 3. UNgsge
(d) siewh 4. o.ibwr

@ b @© @

A3 4 1 2
B 1 2 3 4
€ 4 2 1 3
1 4 3 2

(E) ofer QsfMwedlcvanad
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137. Which reference says that the bankers work was done mostly by the
Sarrofs, Sahukars and Mahajan's during the Mughal period?

(A)
(B)
©

Tazkirai — ul — waqiat of Jauhar
Razik Priya of kesh Das
Ain — i1 — Akbari of Abul fazl

@7 Khulasat — ul — Twarikh of Sujan Rai

(E)

Answer not known

wpeoruir srtogded el uaflser GumbuTaIb G THLISET, FTQUCSTEHT WHIID
Ww&TREsaTTD GeiwlulLer aartn aTbss GHUUS sapdlpg) ?

4
(B)
©)
D)
(E)

5Givélqrru‘_i-2_ci)-a.|rré.]u.|rr§, Qggeram e
Caseu gradlen gfs Gfwm

DI Ssuevadler geim-g-&ul
ggnen gruien Gorss—2o r—Seulld

aflen GgMwefdene

138.. The greatest king of the Rashtrakuta dynasty was

0{ Amogavarsha I

(B)
(©)
D)
(E)

Krishna I1
Indra III
Govinda II

Answer not known

Jraplq TomL TEFTSND Seneslpbseu

A)
(B)
(©)
D)
(E)

WM HACorseiTagT
@ertLmb & (meipenTit
epenpmbd @by
@raLmd CamellbsT
alen Gz flwelidvena
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139. According to census 2011, the percentage of tribals in total population of
India is ’ .
A 6.3% B) 7.4%
©) 8.2% 7 8.6%
(E) Answer not known
2011 <y ya@mgen wssar Qgrass sansQsbufearuy @bHwureler Gorss

w&EET QgTasuld LWPRIEGG WESET L[ —— F6IgD 2 eTaTari.
A 6.3% B) 7.4%
(C) 8.2% (D) 8.6%

(E) e Qsflwelévena
140. Consider the following statement and tick the correct answer:
(1) ‘Secularism’is the part of Indian Constitution
(11) One religious group dominate another
(111) The State permits the practice of any religion

(iv) The state remains neutral in religious matters.

(A) (1) and (i1) only (B) (11) and (1i1) only

(C) (@v) only (i) (ii1) and (iv) only

(E) Answer not known

gfluner sapepd Csirey Gews :

(1) swwE srTQeenw earug @BHW STSwembLIdE QIF DMSLMGHD
(1) em svwd FTTHES GW L@an@ Geler 5g s QFsgis
(iil) B8 swLSDSLD NeTLHD SiTF SGLHLeNGSD

(iv) sww Aasrrigaie irs phHH@@mWL CsTaTy (HSSD

A) @), a1) wiEw (B) (i1), (111) wi @

©) @) vrpw D) @), (1i1) wpmw (1v) WL EHL
(E) oen Qsflweilcvena ‘
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141. Match List I with List II correctly and select your answer using the
codes given below.

List I List 1T

Pass Connecting two places
(a) Niti Pass 1. Kashmir with Kargil
(b) Pensila Pass 2. Uttarkhand with Tibet
(¢c) Burzail Pass 3. Ladakh with China
(d) Rohtang Pass 4. Lahul with Spiti

@ ® @©© @
w’2 1 3 4
® 2 3 4 1
© 2 3 1 4
™2 1 4 3

(E) Answer not known

vlgqwd I g uique IT 2 ar Qurmpsd), £Cy QsrRssuuc Gerear GHSHamens
Qarer® allevLaws Cobas® :

utgwe I ucgwe II

SERTEUML @ran®h @Lkisemer @anensslns)
(@) Py sereumis 1.  amidlguen snegdi
(b) Quenflwr sammeumis 2.  HOusgi_én 2 ssraam
(0 yrensée serTeumi 3.  ovLrsgLen farr
(d) Gorapgris semreum 4. @l guer wrardd

@& b ©© @
A 2 1 3 4
B) 2 3 4 1
©C) 2 3 1 4
D 2 1 4 3
(E) oo Qsflweldrene
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[Turn over



142. In which year, Quick Mail Service is introduced in India?
A) 1955 |
(B) 1965

w( 1975

(D) 1985

(E) Answer not known

@pdwureiler eflearge) iEped Coaney eThE L aig e SNWPSLILOSSLILIL L) ?
A) 1955

(B) 1965

©C) 1975

(D) 1985

(E) e Osfweldena

143. Among the Union territories, which is the highest and lowest density of
population in India? :
(A) _New Delhi, Puducherry
New Delhi, Andaman and Nicobar Islands
(C) New Delhi, Goa
(D) New Delhi ,Yanam

(E) Answer not known
@sdwureiler s wHMDL GOPHS weseTLisH Qarar, wellwer WCserser

wreneu ?

A) ysQLoe, ygsGsf

B) ugQLed, spgwrer HEGsrumt Seyser
(©C) ygQL®®, Careur

D) ygQred, geamb

(E) e Ggrﬁuaﬁl@mw
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144. Which of the fdllowing is incorrectly paired?
1. SBSE — State Board of School Examinations
2. BHSE _ Board of Highly Secured Examination |
3. TNBSE — Tamil Nadu Board of Schooling Education

4. TNBHSE — Tamil Nadu Board of Higher Secondary Education
(A) 1 and 2 are incorrect . ‘Q@{:and 3 are incorrect
(C) 8 and 4 are ineorrect (D) 1 and 3 are incorrect

(E) Answer not known

QereumauareupBled e7g Seupns GHIUN LUl Hererg) ?

1. SBSE - wrfle verefls sdeil aumflub

2.  BHSE - 2 wi wduQueir Csirey eumflwid

3. TNBSE - gflppr® udrafls sdefl eurflwib

4. TNBHSE - s8pprh Cuaodlamasd saoei eurnﬂu_lﬁ)

A) 1 wvopgw 2 sflureang s (B) 2 wpmib> 3 sRwrang e
© 3 wopibd 4 sflwreang ac’om. D) 1 wHmbd 3 sRLTEIS SO
(E) oen .Qgrﬂ welebeney

145. Wildlife Protection Act was enacted in the year
A) 1974 (B) 1980
1972 (D) 2002
(E) Answer not known

auaTellemi@seT LTHETUILE LD QuphoUnil L 6
(&) 1974 (B) 1980

(C) 1972 ' (D) 2002

(E) &ler Qzfwefcrene
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146. The Government of Tamil Nadu has instituted an award by Name
to a person outstanding services to promote communal
Harmony. :

(A) Thiruvalluvar Award |
“Kottai Ameer Communal Harmony Award”

(C) Perarignar Anna Award

(D) Pavendar Bharathidasan Award

(E) Answer not known

g Bodarsssms CLLURSHD waswtler Apbs Csmauwrddu HeHSES
sDBTEH SiT8 QuPEEGD kg
(A)  Hmeudreneui ams

(B) Gasrien <ybit wg pevedlant afi(me

(C) Gupdesit iameawtm e(mg
(D) unGaupsi urgdgrser el(mg
(E) e Gsfweldeme

147. Who are citizens, choose the wrong statement.
(1) Citizens enjoy full civil rights
(11) Citizens are members of the political community
(ii1) Citizens do not enjoy political rights
(A) () and (i1) (B) () alone
(C) (i) alone | (iii) alone -
(E) Answer not known
etTeu(mLd FnhmIeT G DESET WT eTamLSled Seuprar sapennsd ST (Hs.
(1) ©ywssda Wy Helé 2 Nmwsmer HgulsADTTsET
(1) <ordwue syasHer 2 prileanisedr
(111) ‘@Lq.LN?SGSG?T THlwe 2 Newamen HguLLSome
A) @) wpgo (1) B) @) view
(C) (1) we@Ew | (D) (11) wL@Ew
(BE) e Gsfweldere '
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148. What is much tastier than the nectar from heaven in a family?
(A) Touch of Children | |
Food messed up by the hand’s of one’s children

" (C) Music of the flute
(D) Loving words of the beloved
(E) Answer not known
Sflpssans el Qeflewwneng) ey eUET@heUIT TSMEns &Lt ?
(A) w&sdr Qou SarLed
(B) - BIb WESET AP e derTellw sl
(C) yeoermsda @aflew
(D) a5 @ ‘Qamey’
(E) e Qzsfweildvena

149. “Navil thorum Noolnayam; polum payilthorum Thotarbu” whose
association gives great pleasure? ‘

(A) Association with innocence (Pethayar thodarbu)
(B) Association with women (Arivaiyar Thodarbu)

W Association with the genteel (Panbudaiyaalar Thodarbu)
(D) Association with the learned (Arivudaiyaar Thodarbu)
(E) Answer not known
“befled Qammd Hrd pwid Curgid LWEGgTD @gmfiy” u.lrr@mt__u_l Qgmiy
@eTud FHD ?

(A) Guewgwmi Qgmity

- (B sfleswi Agmiy
(©) uerryenrwmerit Qgrn'_r‘rq
D) siPeyerweuir Qgmiry
(E) ofoL Qsfuclome
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150. The National Human Right Commission was established in the year

(A) 1990 ~ (B) 1978

© 1979 - D) 1993

(E) Answer not known

Gsdlw wafls o Aewsdr speamuib AReiiLL oyem®

(A) 1990 (B) 1978

(C) 1979 (D) 1993

(E) ellen Qsfwedlcvana

151. Choose the correct pair :

'ﬁr Glass beads | | — Porunthal
(B) Shell wastes of Bangle — Keezhadi
©) Furﬁace o —  Kodumanal
(D) Canoe — Auroville, Puducherry

(E) Answer not known

sflwrer Qavanaws Csiey Qeiis :

A)  seawemtmy werllser - Qummpsd
B) 2eLps m@; QUENGTLIE) - &g
(0 a@é@ 2 @ -  Qasr@®wewre
D) @Gy wrssrerar uLder LGS - ygéCefufen <4Crradler

(E) e QsfweNdena
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152. Choose the correct answer :

(1)
(i1)

(iii)

(iv)

A)
©
(E)

Velu Nachiyar was a Queen of Sivagangai.

Muthu Vaduganathar was killed in Kalaiyar Koil Battle, was the
husband of Velu Nachiyar.

Kuyili a commander of Velu Nachiyar was the first suicide
attacker. | .

With the help of Marudhu Brothers again Velu Nachiyar was
crowned as Queen.

(), (i1) and (iv) are correct (B) (i), (i11) and (iv) are correct

(i1) and (iii) are correct ‘Q{All are correct

Answer not known

sfluner levLews Gsfley Cews :

(@)
(i)

(i11)

(iv)

4

©
(E)

Heasmmser ‘Qrranll’ Coug ;5rré§|u.uﬁr‘r <G

sreverwit Gsmede Curfle QsrdauulL wss wOssrsT @rret Goug
Bréflwrfen semeuFmeumt.

Geugy préflunflen podsmss@iiu ueLs serud GWS e Wz
sHQsmemeLs e el Qpeuir. .

wmg sCsngriseller 2 sefluear Caugy Hredlwm Bawm@in @rrenflurs @pig

GLgs QamerrLmi.

(), (&) o (i) of ®) ), (i) wppod (v) of
(i) whHmb (111) &M D) s@asgw &
eflen Qgflwelerans
57 SDGS/2022

[Turn over



153. showed his compassion and mercy on all living beings
including plants.

Ramalinga Adigal (B) Iyothee Thasar
(C) Baba Ram Singh (D) Guru Nanak
(E) Answer not known

sAT@L W JemepUd @Qrsssmsub Csg CemgseT 2 UL
Smasg 2 Wilartsefl_sHaibd Sriqweur.

A) @rmodns sigse (B) <=Cunsdsrsr
(C) unur grd A - ’ D) empres
(E) eflenr QsfAweldane

154. Choose the correct statement : -

I.  Periyar EV Ramasamy was the founder of the Self-Respect
Movement.

II. People hailed him as ‘Vaikom Veerar” (Hero of Vaikom).

III. He frequently wrote columns in the magazine under the ‘pen name'
“Chitra Puttiran”. -

IV. He also supported B.R. Ambedkar's demand for separate
electorates to scheduled castes.

(A) Iand]IV are correct (B) II and III are correct
‘(K I, IT and IV are correct (D) II is correct
(E) Answer not known

sflwrer sapenps Coitay Qauwis.

I Quflumi m.Qeu.@rmoemd sw LALTESs Qusssss Gg,rrﬁ)@@ﬁlggrrr’r
II. wéser ey ‘@ausshd Sy eTar LTFTL gaTT

III.  Quilwni ‘Asdy ysHrer ergud yeer Quufe s G@rsamer eripdarmi

IV. B.R. <owCugsmt aiseller @OsslulL  wssesssmar  saNs0sT50
Qzneds Camfsamsew Quilurmn sMssi.

A) T ovpgw IV &M (B) II wpgw III &M
©) L II vpgw IV & (D) II &M
(E) oo Qsfweldane
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155.

156.

was the first Queen to fight against the British colonial

power in India.
(4) Kuyili lﬂﬁ/elu Nachiar
(C) Rani Mangammal (D) Rani Lakshmi Bai

(E) Answer not known
@pdwreiier WA g ey sl Hsssms adiss CumiliL (50;_560 Quainamyél

A) @Y (B) Gaugy préflwmi
(C) grenfl wRGLLIET (D) grexfl @er el Lmi
(E) oo Qsflweiidvena

Assertion [A] :  Ambedkar wrote, Annihilation of caste
Reason [R] : He criticised caste system and Hindu religious texts

( Both [A] and [R] are true and [R] is the correct explanation of [A]

(B) Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(C) [A] is true, [R] is false

(D) [A] is false, [R] is true

(E) Answer not known

gaHm [A] : &1 @fuy upd bCugsi erapSuerarmTi.
smpend [R] @ @bs svw prosde @mps 18 pepew edwisad
' Qawigmir.

(A) emom [A] wpgd srgemd [R] @qsm@u: sfl, wpmb smyed [R] spdler [A]
- gflwnen clleT&aELmE@LD

(B) sapm [A] wpmd srgerrd  [R] Qreanpiod s, @cl,mﬁcb srgentd [R] sapiien
[A] sflwnen elerésda

(C) ampm [A] &M, srgemrd [R] seug

D) smom [A] seum, sryed [R] &f

(E) &lenr Qgfweidens
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157. During the Loksabha Constituency Election in 1952 Kamarajar got
elected from

(A) Nagercoil

(B) Virudhu Nagar
Srivilliputtur

D) Aruppukkottai

(E) Answer not known

1952-@é poLQupp BrLTEswaDs Coigadld smogra ng@@g@&;&;uul_l__
CsrEs . 2BED-

(A) prsiGasrele

(B) Aogpst

©)  WBeodpgrr

D) @muysGsmiei

(E) e QsNweicrene

158. Which one of the following is the family name of Nehru?
(A) Rai
(B) Kul
(C) Sarkar

M Kaul

(E) Answer not known

Qereumeuameupmier arg Crmellen G@HUbUL QuUWiT G ?
A) gmo |
B) oo
(C) sranmi
(D) Qserer
- (E) eferr Qsflweldena

/
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159. ‘India will be a global player in the digital economy’ who said this?

(A) Amarthiyasen - (B) Manmohan Singh
Sunder Pitchai (D) Jawaharlal Nehru

(E) Answer not known
‘@aés wep QurGmaTsmsHd QbHur @i e esameilu CururaTFT@D’ eTans

Gadlweuir
Q) swisHunQeer (B) werGuraer S
(O apait Gsams (D) geuaniewrd Crm

(E) oflen leﬂu_laﬁld)mcu

160. Choose the Right matches among type :

I. . First five year plan - 1950 - 1955
II. Third Five year plan - 1966 - 1969
III. Ninth Five year plan - 1997 - 2002
IV. Twelfth five year plan - 2012 - 2017
(A) I andII correct

@7 1II and IV correct

(C) I and III only correct
(D) II and IV correct
(E) Answer not known

sflwuren @aamarws CaibosHESD :

I.  wso gpsran® S — 1950 - 1955
II. weapraug gisrar® HiLd - - 1966 -1969
ITII. geaugraug gpstar® HLib - 1997 - 2002
IV. uerafQpemrneug gosram® S — 2012 - 2017

Q) I wpmpw II &M

(B) III wpgd IV &

(C) I wpgw IIT &M

D) II wpgw IV &f
(E) e Qzfweildene
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161. Assertion [A] :  Self help groups are linked with bank based on their

performance

Reason [R] : The main objective of this programme is to bring the

A)
v
©
D)

beneficiaries above the poverty line.

[A] is true but [R] is false

Both [A] and [R] are true. [R] is the correct explanation of [A]

[A] is false, and [R] is true |

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

ampm  [A] @ sw esdls Gussellar Qeuoursmer @eauss umd
@aaniils S s CarssLiu@Eprisar.

smgard [R] :  @sHLsder wsdw Corsswrengy vwerrelsamer eupews
Cariiph@ Cwd wearCarppuwan_wé QFiieugm@L.

4)  [A] &ft gyame [R] gaug

(B)
©)
D)

(E)

SDGS/2022

[A] wpgw [R] @ran@w s [R] ererug [A] edpsren sflwnen efleraswomgn

[Al sug. wpgid> [R] &l

[A] wpgd [R] Qranew &f, emed [R] aaug [A] psrer sflwrer
clerésee

allen Qgflwelldena
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162. The country which will host ASEAN 2022 is
Cambodia
(B) Italy
(C©) Rome
(D) Sri La_nka

(E) Answer not known

2022 @ ASEAN & Lg@s apg B0 BLSHEDS ?
- (A) swGumgwm | |

B) @ssned

(C) 2Ggmb

D) Qoras

(E) Merr Gzfweildene

163. Who won the Miss Universe 2021?
{Harnaaz Sandhu
(B) Nadia Ferreira
(C) Lara Dutta
(D) Nandita Banna
(E) Answer not known
2 & <ipd uLLsHaar 2021-@6 QeuaTpeuit wimi?
(A) anirermev FHg
B) prgwr SQUGTAwWT
C) omyr gssT
D) ppdar uerenm
(E) e Qsflweldrenew
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164. Match the following :

Name of the political party Strength in the 16th Assembly
(a) PMK . 18
() VCK 2. 2
(c) CPIM) 3. 4
@ INC | 4. 5

@ ® @© @
@4 3 2 4
B4 2 3

4 3 2
M2 3 4

(E) Answer not known

e e ™

QurpSgSs.
SNHwed sU8 16 aug sl Lweanpsdéd sigem L
(a) unlinefl wéser sL_& 1. 18 ‘

(b) Apsow Apsmssdr sf 2

(©) wmiEfevl. sbyelev s 3.

) @pHu Coélu smadyon 4
@ ® @© @

A 3 2 4 1

B) 4 2 3 1

©C) 4 3. 2 1

D) 2 3 4 1

(E) oL Asfueidame

SDGS/2022 ‘ 64



165. The objective of Clean Energy Research Initiative (CERI) is to

166.

A)

(©)
(D)
(E)

Develop innovations
Make it affordable and accessible
Develop research

All of the above

Answer not known

gnuew 68 < rmiEd wpwpHd (CERDWer @MsCamdr

A
(B)
©)
(D)
(E)

LSIDDEMET GUETITLILIS)

wefleumga|ib a@asé;&lqwg,rfasmm QupriuBeug
QIMUFSA 6T pp@D euaTiILg)
Cup@AUAL_(Hérer s

eflen QzMwelidvene

On November 28, 2021, a major earthquake with a magnitude of
7.5 struct at ' '

(A)

Indonesia

'Q(Peru

©
D)
(E)

Pakisthan
New Zealand

Answer not known

paubuir 28, 2021 ey, 7.5 AsLT emey Ganear @@ WLWIAUEBL HlOBHESD
ghulL @uib

A)
(B)
©)
D)
(E)

BpCgnCaradlum
Qum

unélevgmen
Bydlonsg

elenL Qsfwelidvencw
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167. Which one of the following is root parasite plant?
(A) Viscum (B) Cuscuta
(C) Loranthus M Rafflesia
(E) Answer not known
SpssamLcupde hs sreurd Geul U Hiamenfl greurwrELd ?
(A) eNevsib (B) sevamin
(C) QGangrengev D) groedwr
(E) e Qsfweldene

168. Answer the following questioné using the data given below :

Assertion [A] :  Acetic acid is a weak acid.
Reason [R] .: Acetic acid has four hydrogen atoms but only one can
be replaced. ‘

(A) [A] is correct [R] is wrong
[A] and [R] are correct. [R] does not explain [A].
(C) [A] is wrong [R] 1s correct
(D) [A] and [R] are correct. [R] explains [A]
(E) Answer not known

Yereupd eflammssmer Spssam GHLLEET apeod e wellésayd :
sapm  [A] ¢ 2flys swfew wdlaw GmpiEs Sideb.

smend [R] : @8lns sfewsde prenE amanl rmer gsseT B)HbSTMID,
201 em emanL_ygemar W HGWL @LUduwisd Qealiw @pgujb.

(A) spm [A] M srypemw [R] seumy

B) smogw [Al, smemgpw [R] &M, <emed smew [R] spmy  [A]
Aeufssafdrena

(O) spm [A] sy srrerd [R] &
D) smopmw [A], srpaerapw [R] sfl. sryemd [R] saperp [A] pers eané@Hpg
(E) &lenr Qsflwecrena

SDGS/2022 66 P



169. When a force ‘F’ acts on a body for a period of time ‘¢, then the product of
force and time is known as

(A) Inertia (B) Moment of a force
M Impulse (D) Linear momentum
(E) Answer not known

‘F arenp eflens ‘L’ eranp s semeléd @ Qurmefar g QeweulLmd ghuBd
wduy, ders LHMIL ST Satellen QUEBESHULEIES FWWLTES QMHESWL. Qs@an
GrebTLIfT.

. (A Heawwbd (B) 2 pg ens
(C) seamssnss (D) CpAwe 2 psd
(E) Merr Qsflwefdene

170. Which of this is not an unit for viscous force?
Newton (B) Poise

(C) Kgm-ls1 (D) Nsm-2
(E) Answer not known
Qeupmier ety un@Genw elleansuilen @ Herwng ?
A) BPurar (B) umiev
(0 Kgm-ls! (D) Nsm-
(E) &ler Qsfluaioame '

171. Which one of the following has the highest density?
(A) Air !BﬁVater
(©) Kerdsene D) Wood
(E) Answer not known
Sparamuepper erbsl Qurmealian Liigd WGEHwreng ?
A) smpgy B) B
(O) weanQerer@emris D) wrd
(E) e&len QsMwelcvena
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172. Find the H.C.F. of x* — 2xy + y* and x* - y*.

@ 1 | B) x+y

& -y | D) «* -y’

(E) Answer not known

x? = 2xy + y° wpmbd x* — ¥ dHwapdler BUCQum Qurg wuEsE srars.
@A 1 B x+y

€ x-y D) x* -y

(E) o&henL Qgrﬂmaﬁld)mm

173. Find the area of triangle formed by the points (- 5, 0), (0, — 5) and (5, 0).
(A) 0 Sq. units m5 Sq. units
(C) 58Sq. units (D) 125 Sq. units
(E) Answer not known
(-5, 0), (0, - 5) wpmdp (5, 0) AW yereflsemmed S@WLESLLHL WECHTERTSS 6

UgULY SmenTs.
A) Os s0@sdar (B) 25 s. SN GEET

(C) 5 & si@@ser ‘ (D) 125 ¢. 0@
(E) e QsfAwelldrene

174. The circumference of a circular park is 352 m. Find the area of the park.
(A) 8956 m? (B) 448 m?
(C) 1452 m? 9856 m?
(E) Answer not known
R L augeuls Yrisreller spparey 352 S, araflléd ymsreler LgliLeTey STETS.
(A) 8956 52
(B) 448 .82
(C) 1452 52
(D) 9856 182
(E) o&en Qsfweféena
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175. A wood cutter took 12 minutes to make 3 pieces of a block of wood. How

176.

much time would be needed to make 5 such pieces?
(A) 12 min - ' | Eﬁél min

(C©) 30min (D) 36 min

(E) Answer not known |

@M wWIb Qe PuUaTEE @M LIsSE@L 3 gaThsaEGusHES 12 Bibl ks
G0 aTafled Digmarn 5 gamhaatss aeearey Corb Csama ?

A 12 Ol (B) 24 fllLw
(©) 30 AL (D) 36 AL

- (B) e Qzflweldens

The least number which when divided by 12, 16, 24 and 36 leaves a

remainder 7 in each case 1s

e{ 151 (B) 51
(C) 36 D) 144

(E) Answer not known

12, 16, 24 wpmb 36 d aELELOUME @aGaT®m Yopyb Tg BHwTs

- grHsmigw 0sEAML AL W e 2 G-
(4) 151 (B) 51
(C) 36 (D) 144

(E) efeni Qs Mwelicrena
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177. If 382 is written as 238, 473 as 347 and so on, then which of the
following two numbers will have least difference between them

(A) 473 and 382 (B) 629 and 728

(C) 629 and 568 @728 and 847

(E) Answer not known

382 eremugy 238 eranayd 473 eranug 347, ....., ey eSLILLLTD, WeTaHLD
Qm aansafld abg @ aansaflen cgHwunen, Vss Gopauragns @ HEESLD.

(A) 473, 382 (B) 629, 728

| (C) 629, 568 (D) 728, 847
(E) e QsMweldvene ‘

178. If RED is coded as 6720. Then GREEN can be coded as
(A) 1677199 mﬁ677209
(C) 16717209 (D) 9207716
(E) Answer not known
- RED & @S 6720 arafieo GREEN e gHuS@
(A) 1677199 (B) 1677209

(C) 16717209 (D) 9207716
(E) a9 Qzflwellerena

179. ABCD : OPQR : : WXYZ: ?
(A) EFGH l{KLMN
(C) QRST D) STUV
(E) Answer not known
ABCD : OPQR : : WXYZ : ?
(A) EFGH (B) KLMN
(C) QRST (D) STUV
(E) &fer Qsfwelidrener
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180. A number consists of two digit whose sum is 9. If 27 is subtracted from
the original number, its digits are interchanged. Find the original
number.

A) 36

B) 45

(C) 54

' 63

(E) Answer not known

@ran® Qeossusmas Qsrar. @f carafar @assmsde &mOgw 9. <ps

arareflcdmps 27 8s 5085 aQaanseilar Gasstsd GLb LIREIED. aafld,
SiuQeuaTaneRTS: SHTERTS

(A) 36
(B) 45
(C) 54
D) 63
(E) ol Qsflweiiévena

181. Simplify: 20 + [8x 2+ {6 x 3 10 + 5]
A) 40
(B) 57
52
(D) 48
(E) Answ.ey not known

swo@s : 20+ [8x 2+ x3-10 + 5]
A) 40

(B) 57

(©) 52

(D) 48

(E) oo Gsfweildvene

p | - SDGS/2022
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182. The rate of interest at which 640 amount to 774.40 in 2 years. Find
;?uterest 1s compounded annually

10%
B) 12%
©) 12.5%
D) 14%
(E) Answer not known

1640 ey Qran® yarHsefd i Hs0sTms T774.40 Y@w aafld s @
ety elflgd Smeir

A) 10%
B 12%

C) 12.5%

D) 14%

(E) oo Qgfuadiens

183. The value of a motor cycle 2 years ago is £1,00,000. It depreciates at the
rate of 5% p.a. Then the present value is

(A) 80,000

(B) 80,250

v 90,250

(D) 95,000

(E) Answer not known

@f Q@ 8587 awrsargdlar dlae 2 yarhsErsE wear 11,00,000 <8 Qmbss).
sigen wHLY J@THCsTmID 5% aigd G@ndng aalld siger sHCLT@SW WL
(A) <=80,000

(B) = 80,250

(C) 90,250

(D) =95,000
(E) e Qsfuadloame
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184. “Liberty, Equality and Fraternity” are the slogans given importance in

the preamble of our constitution. These were slogans of which

Revolution?
(A) American Revolution

. 6 French Revolution

-(C) Russian Revolution
(D) Chinese Revolution

(E) Answer not known

“aghn, swsged, sCaTgrsgeub” et WWssmsH @bHL AFHweamwnder

wsaeruiledr wsdusgeaib sTLULHeTerg. @amet aThs Ll Sulen Ap&SEBISET ?
(A) <=QuAssy yyrd

(B) 9Qygpen yyé

(O  gegwu yp &

(D) &ers gy &

(E) e Qsflueldema
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185. Assertion [A]:  The council of Ministers is collectively responsible to

the Lok Sabha.

Reason [R]: = Ministers are appointed by the president on the advice

of the Prime Minister.
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation of [A]
(C) [A]is false, [R] is true

‘() Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(E) Answer not known

sampm [A]  :  sewssissr  GY LB  Qurggwrs  wEsMTES
QurpiiyerLweufiger.

smyemd [R] : Smwssigamer  Grswhlear ~ yCarsmanuier GCufléd @Ggwys
seaai Hlulspm.

(A)  [A] &l gamed [R] gougy

(B) [A] wpgd [R] &l [A] ssnen shuner efensan [R] ayeid
©) [Al saug, [R] &f

(D) [A] wpmw [R] sf [A] ssrar sflwner efarssnd [R] s

(E) oev Qsflweférena
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186. Which of the following is considered as the Guardian of the constitution?
(A) Legislature (B) Executive
(C) Cabinet , Supreme Court
(E) Answer not known

Geraumeuaraupmier g SiTAwe semwlidlen LUTgsTeuaTES ShHsLILIGE D) ?

(A) s Lwed (B) s fszmap
(©C) eemwssyeaeu ' (D) 245 fHwenpd
(E) &lenr Qsflweiicrana

187. Arrange the following in chronological order with respect to their
establishment :

1. Central vigilance Commission
2. Central Bureau of Investigation
3. Central information commission
4. Lokpal and Lokayuktha Act

A) 1,324 (B) 2,4,3,1

“’ 21,34 D) 3,2,1,4
(E) Answer not known

Epsramueaupap igan ComppelssiulL ey guuemLtd sflurs srw
aflesiu@sseb :

1. wsdu sensrarfluy yamemwbd

2.  wsdw yearmie] GW

3. wsHw gEwD YMRTWID

4. Corsumed wHpib Cons HWSST SLLID

A 1,3,2,4 B) 2,4,3,1

© 2,1,3,4 D) 3,2,1,4

(E) eflen Qsflwefcoana
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188. Which is the northern most settlement of Indus Valley civilization?
(A) Sutkagendor
Shortugai
(C) Alamgirpur
- (D) Daimabad
(E) Answer not known

Apbg swbeuafl gnaﬁégﬁm L &CaTT Glul@mLiy erg?
A) slsrQgenGLmi

(B) Gegripers

O <ebdiyr

(D) eLwrunsg
(E) e Qsflweldena

189. Who was not the contemporary of Samudragupta?
| (A) Pushyavarman
Bhaskarvarman
(C) Vishnugopa
(D) Sri Meghavarman

(E) Answer not known

s@gﬁu@ﬁgr‘r STVSMNSF STTTS6UIT
(A)  yesweurwen

(B) uméevsieuioer

(C) NeggmGamum

D) B Cuseufwer

(E) oo Qsfueioama
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190. Choose the correct statement :

(1)) The Indian heritage advocates hospitality, charity, friendship, love,
humility, truth :

(i) The paintings at Ajanta and Ellora are world famous.
* (iil) The Jain's celebrate Buddha Poornima.

(iv) Bharathanatiyam, Kuchipudi, Kathalk, Manipufi and Oddissi are

some of the famous dances in India.
(A) (1) and (i1) are correct
(B) Only (iv) is correct
(C) Only (iii) is correct
(1) (i) and (iv) are correct

(E) Answer not known

sflwrens sperp Coirey Qs :

() @sdue urppufub AGECEMOUD, s, By, 6T, RUSSLD. 2 GrenLo,
weapans s g

() ompsT wHMD TOCTIT GRS 2 LS LS Qupmenau
(i) swemisdr uss Wialwrae AsTamLTH DT

(iv) ugs Prigwbd, G&sOUg, spssell, wafloyd, wHnD @ s GuraTpere
’ @idunailen Lsp QUDD HLATEEDOSETTSLD

A) () wpmw (1) &f

B) () vLEb &

(C) (iii) wLE &M

D) @, (i) wppd (V) YHwwe &
(E) e Gsflweicvena

o) 77 SDGS/2022
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191. Assertion [A] : Himalayas are called young fold mountains.

Reason [R] : It was formed only few million years ago by the

folding of the earth crust due to tectonic activity.
(A) [A] is true [R] is false
(B) [A] is false [R] is true
{ Both [A] and [R] are true
(D) Both [A] and [R] are false

(E) Answer not known

spp [A] 1 @uuvee g @b L weeWTED

smend [R] : Quuoves HAo  Soduar gandsessE —peanigmer
HellGLCar @ Cuilwss clmesdr srpaons o (Heurdwg

(A) [A] s, [R] peupy

(B) [A] sau. [R] &

©) [Al [R] 98w Grear@w sf

(D) [Al [R] 2éu Qranpw geui

(E) oo Qzfwedivenad
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192. Ganga River’s right bank tributary is
(A) Ramganga (B) Manas
(C) Kosi . YﬁYamuna
(E) Answer not known
shios pHular g samyuler goam B
(A) gmb smsm ' (B) warmev
©) Gsn& D) wyerr
(E) &Mer Qsflweldene

193. Match the following rivers with their tributaries :

(a) Indus River 1. Gomti
(b) Ganga River 2. Indravati
(¢) Brahmaputra River 3. Chenab
(d) Godavari River 4. Subansiri

@  ® ©@ @

Aa) 3 1 2 4
(B) .2 4 3 1

2 4 1 3
M 4 2 3 1

(E) Answer not known
SpssaTL ps®er JAcupiler geammummis@sLen AuTGSSaD :

(a) Hbg BH 1. Gamwd
(b) sues ps . 2. @bdrreud
(c) Ymbwysdor B | 3. &enmiy

(d) Gsmgrauf B 4. suenJf

@ ® @@ @

A 3 1 2 4
B) 2 4 3 1
© 2 4 1 3
D) 4 2 3 1
(E) e Gsflwelicrena
) 79 SDGS/2022
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194. Match the following :
Name of the organisation Place

(a) Government Medical College 1. South Chennai
(b) Centre of excellence for 2. K.K. Nagar, Chennai
" cancer. Arignar Anna
Memorial Cancer Hospital

(c) Centre of excellence at the 3. Kanchipuram
Institute of Rehabilitation
Medicine

(d) Multispeciality hospital 4.  Thiruvallur

@ ® © @

A 1 3 4 2
B)_ 3 4 2 1

4 3 .2 1
D) 3 4 1 2

(E) Answer not known
SpsaaTLcupepls QUTmESs
Semwiiseflen QuUwiiser SiwaellLb
(@) < vrsgus sogrfl 1. Qsar Qeenrarar
() yppGprisster Apuy @www, 2. Cs.Gs. pai, Qedamen
AP e simartn Fleavaray
UHoICHTL WHSSIeUDmeT
(© wvpampey Apuy wEsge 3. &TEplyTd
Bpicuer entowib ‘
(d) voGprag fpuy wHsguwvear 4. Hmeudren
@ b © @
A 1 3 4
B) 3 4 2
©) 4 3 2
D) 3 4 1
(E) eeoL Qsfwelcrenaw

DN k= = N
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195. The Tamil Nadu Rice Research Institute (TRRI) working under

Tamil Nadu Agricultural University is situated in District.
o Thanjavur (B) Dindugal
(C) Salem ‘ (D) Thirunelveli

(E) Answer not known

sOPETH Ceuerrainr Los@as spssdar (TNAU) & Gewdul® @b sOLETE

. Qpéd rmisd Hpeuand (TRRI) e 2 dreng?

196.

(A) sepemayt (B) Sanpsse
(C) Gseow D) ﬁ@@p@b(ﬁmcﬁl
(E) &S Qsflwalévens

Tamraparn{ is a perennial river that originates from the of
the western Ghats.

(i/ Agastyar Koodam peak of Pothigai hills

“(B) Siva Gnana teertha

© Varusanadu hills

(D) Thenpennai

(E) Answer not known

smilgugentl ereTLIg) e 259 CupE QsTLiEd weewld 2 HETGD
R WHOTS FHUTSL. ~

(A) ssaduir saL e Qurleans e

(B) Aeaueprer Siggd

(O amepr® wawse

(D) Qsen@uarenemt

(E) oo Qsflweiicoene
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197. Which is considered as the greatest blame on human living by Valluvar?
(A) Transient life
(B) = Life without progeny

M Infamous life -

(D) Life without love
(E) Answer not known

waflg aumpsmass@iu LG eudTEpeulr asameand @GDILIKGHE DTt ?
(A) Beveowpy eurpey
(B) wss Cupy @owrs aumpey
2T Uspip ampay
D) swerupp aumpey
(E) e Qsflwelidena

198. What will wipe away the wealth of the ruler?
- (A) Anger of the wicked
(B) Incessant Rain
(C) Gifts given to flatterers
\M Unbearable tears of the oppressed

(E) Answer not known

g etGaurflen Qedeusmss CouiisEnd LML eTg) ?
(A) QamngCurenr @mssd

(B) qewrg aunanb QL

(C) ysisTHEEGS QsTRsEELLOL Lfs

D) woprg ws scnenti

(E) e&err Qsflweléene
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199.

200.

Tamil Nadu Transgender Welfare Board comes under which.
department?

(A)
(B)

Health and Family Welfare Department
Adidravidar and Tribal Welfare Department

W elfare of Differently abled person Department
S

(E)

)
(B)
©
D)
(E)

ocial Welfare and Women Empowerment Department
Answer not known
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A niggard hand, o’erweening self-regard and mirth unseemly bring
disgrace to men of kingly birth. What is the meaning of the word ‘kingly
birth’ mentioned in the above verse? ‘

A)

God

@7 King

©
D)
(E)

Superior

Nobles

Answer not known
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‘Duration: Three Hours] [Total Marks : 300

Read the following instructions carefully before you begin to answer the questions.

@

10.

11.

12.
13.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions.
Part-B of answer sheet of the candidates will not be evaluated, if the candidate does not secure
minimum qualifying' mark (40% - i.e. 60 marks) in Part-A. For Part-A qualified candidates, marks
obtained in Part-B only will be considered for ranking list.
Before answering the questions, you shall check whether all the questions are printed serially and ensure that
there are no blank pages in the question booklet. If any defect is noticed in the question booklet, it shall be
reported to the invigilator within the first 10 minutes and get it replaced with a complete question
booklet. If the defect is reported after the commencement of the examination, it will not be replaced.
Answer all the questions. All the questions carry equal marks.
You must write your register number in the space provided on the top right side of this page. Do not write
anything else on the question booklet.
An answer sheet will be supplied to you separately by the room invigilator to shade the answers. Instructions
egarding filling of answe s h e be fi we rily, are provided in the answer s et and in the
memorandum of admission (Hall Ticket).
You shall write and shade your question booklet number in the space provided on page one of the answer sheet
with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the question booklet number,
your answer sheet will be invalidated.
Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select ONLY ONE
correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet. If you feel that there are
more than one correct answer, shade the one which you consider the best. If you do not know the answer, you
have to mandatorily shade (E). In any casé, choose ONLY ONE answer for each question. If you shade more
than one answer for a question, it will be treated as a wrong answer even if one of the given answers happens to be
correct. .
You should not remove or tear off any sheet from this question booklet. You are not allowed to take this question
booklet and the answer sheet out of the examination room during the time of examination. After the examination,
you must hand over your answer sheet to the invigilator. You are allowed to take the question booklet with you
only after the examination is over.

You should not make any marking in the question booklet except in the sheets before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered to.

Question in Sl. No 101 te 200 (Part-B) the English version is final.

Failure to comply with any of the above instructions will render you liable for such action as the Commission may
decide at their discretion.




